	Tut’s Revenge

	Answer Key,
Math Worksheets
	


	Module Name: Answer Key – Subject Worksheets/Tests



	Worksheet 1
Answers will vary.
	Worksheet 2

Answers will vary
	Worksheet 3
Answers will vary

	Worksheet 4
Scale Factors:
Handout 1: About 1 cm = 30m

Handout 2: About 1 cm = 60m

Handout 3: About 1 cm = 50 m

Length of Side of Square:

Handout 1: 7.7 cm
Handout 2: 3.9 cm
Handout 3: 4.6 cm
Triangle Base, Height, Area:

Handout 1: 7.7 cm, 6.2 cm, 23.9 cm2
Handout 2: 3.9 cm, 3.4 cm, 6.6 cm2
Handout 3: 4.6 cm, 4.0 cm, 9.2 cm2
Number of Bricks = 85675/0.03 = 2,855,833.3 ≈ 2,856,000 bricks 
Paying the Bills:

Gold: $5,712,000,000
Silver: $ 1,999,200,000
Copper: $285,600,000
Granite: $ 57,120,000
Limestone: $28,560,000

	
	























A product of the Partnership for Environmental Education and Rural Health at Texas A&M University
A product of the Partnership for Environmental Education and Rural Health at Texas A&M University


